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QUESTION 1
You are working on a proposal for a location with the following requirements:

275 H.323 stations 125 analog stations 8 voice mail channels/ports needed G7.ll should be used for station to station
calls T1s needed in 6 stations per trunk sizing

Which statement describes how to calculate the number of T1lcards required?

A. Calculate the sum of H.323, analog and voice mail ports/stations, divide by six, then divide by 23, and round up the
remainder.

B. Calculate the sum of the H.323 and analog stations, divide by six, and round up the remainder.
C. Calculate the sum of the H.323 and analog stations, divide by six, then divide by 23, and round up the remainder.
D. Calculate the sum of H.323, analog and voice mail ports/stations, divide by six, and round up the remainder.

Correct Answer: D

QUESTION 2

In preparation for the migration of CS1000 phones to Avaya Aura your customer is trying to understand how things will
work after the migration.

How will CS1000 phones register?

A. To Session Manager via the Avaya Device Adapter
B. Directly to Communication Manger

C. Directly to the Avaya Device Adapter

D. To System Manager via the Avaya Device Adapter

Correct Answer: C

QUESTION 3
You are recommending the WAN link requirement per branch for a multi-location customer. The customer estimates the
branch Inter-office communication use rate over the WAN to be one trunk per 20 branch users, and there are 460 users
at each branch. You assume that after all header compressions have been applied, there is a 30% protocol overhead,
and the G.729 codec being used provides 7.2 kbps.

How much bandwidth is needed for voice traffic on the WAN link for each branch?

A. 187.2 Kbps
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B. 115.9 Kbps
C. 165.6 Kbps
D. 215.3 Kbps

Correct Answer: B

QUESTION 4

You are working on a solution design for an Avaya Aura 8.1 solution and estimating how many Digital Signaling
Processor (DSP) resources will be needed.

Which two types of calls require DSP resources? (Choose two.)
A. H.323 to H.323 calls

B. ad hoc conference calls

C. SIP to H.323 station calls

D. SIP to SIP calls

Correct Answer: C

QUESTION 5

You are trying to determine how many Basic and Mainstream licenses are needed to support a proposal for Avaya IX
Messaging.

Which feature requires a Mainstream license?

A. Multiple greetings

B. Full synchronization with 0365 email applications
C. Distribution lists

D. Multiple Telephone User Interfaces (TUIS)

Correct Answer: C
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